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Numerik 2 – Übung02 – Georg Kuschk
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1A Transformation auf Hessenberg-Form
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      und fertig



3

3.) 







=

1
2
ε

ε
A , 1<<ε

QRIA =− 1σ )( 1IAQR T σ−=
IRQA 11 σ+=

( ) 







−

−
⋅








−

=−⋅







−

=
1

1
1 1

2
cossin
sincos

cossin
sincos

σε
εσ

ϕϕ
ϕϕ

σ
ϕϕ
ϕϕ

IAR

0
!

21 =r
ϕεσϕ cos)2)((sin0 1 ⋅+−−=

12cos
sin

tan
σ

ε
ϕ
ϕ

ϕ
−

==

22
1

2 )2(tan1

tan
sin

εσ

ε

ϕ

ϕ
ϕ

+−
=

+
=

22
1

1

2 )2(

2

tan1

1
cos

εσ

σ

ϕ
ϕ

+−

−
=

+
=



















−⋅−

−⋅+
⋅=⇒

1tan
tan

0

tan2tan
tancos

ϕε
ϕ

ε

ϕεϕε
ϕ

ε

ϕR










−⋅−
−⋅−

⋅=⇒
*tantan

tantan*
cos

2

2
2

ϕϕεε
ϕϕεε

ϕRQ

a)
2

tan01
ε

ϕσ =⇒=

















≈



























−









−

⋅=⇒
*

2

2
*

*
22

1
22

1
*

cos 3

3

2
1 ε

ε

ε
ε

ε
ε

ϕA

1
4

4
cos

2
2 ≈

+
=

ε
ϕ

b) εϕσ =⇒= tan11










−
−

⋅=⇒
*

*
cos

3

3
2

1 ε
ε

ϕA

1
1

1
cos

2
2 ≈

+
=

ε
ϕ


